# **On Cubic Harmonious Graphs**

Mathew Varkey T.K<sup>1</sup>, Mini.S.Thomas<sup>2</sup>

Department of Mathematics

<sup>1,2</sup> Assistant Professor, T.K.M College of Engineering, Kollam, Kerala, India

Abstract-A (n,m) graph G=(V,E) is said to be Cubic Harmonious Graph(CHG) if there exists an injective function  $f:V(G) \rightarrow \{1,2,3,\ldots,m3+1\}$  such that the induced mapping  $f * chg : E(G) \rightarrow \{13,23,33,\ldots,m3\}$  defined by  $f^*chg(uv) = (f(u)+f(v)) \mod (m3+1)$  is a bijection. We have proved that the Hn graph,  $P_n @ P_m$ ,  $pK_{(1,q)} \cup rK_{(1,S)}$ ,  $U_{(r=1)}^{t} K_{(1,r)}$ , < K1,a, K1,b, K1,c, K1,d> are cubic harmonious.

*Keywords*-Cubic harmonious labeling. Cubic harmonious graph, Graceful graph, H-graph, Star graph

# I. INTRODUCTION

A (n,m)- graph G is to be harmonious, if there is an injective function  $f: V(G) \rightarrow Z_m$ , where  $Z_m$  is the group of integers modulo m, such that the induced function  $f^*: E(G) \rightarrow Z_q$ , defined by  $f^*(uv) = f(u) + f(v)$  for each edge  $uv \in E(G)$  is a bijection. All the graphs considered here are finite, connected and undirected with no loops and multiple edges. A detailed survey of graph labeling can be found in [2]. Square harmonious graphs were introduced in [8]. Cubic graceful graphs were introduced in [4]. Cubic harmonious graphs were defined in [5].

#### Definition 1

The *Trivial graph* $K_1$  or  $P_1$  is the graph with one vertex and no edges

#### **Definition 2**

The *H*-graph of a path  $P_n$  is the graph obtained from two copies of  $P_n$  with vertices  $v_{1,v_{2,...,v_n}} v_n$  and  $u_{1,u_{2,...,u_n}} u_n$  by joining the vertices  $v_{\frac{n+1}{2}}$  and  $u_{\frac{n+1}{2}}$  if *n* is odd, and the vertices  $v_{\frac{n+1}{2}}$  and  $u_{\frac{n}{2}}$  if *n* is even.

#### **Definition 3**

A complete bipartite graph  $K_{1,n}$  is called a *star* and it has (n+1) vertices and n edges

#### **II. MAIN RESULTS**

Theorem 2.1

The  $H_n$ -graph G is cubic harmonious for all n > 2. **Proof:**  Let  $V(G) = \{u_i, v_i\};$   $1 \le r \le n$ And  $E(G) = u_i u_{i+1}$   $u_{\frac{n+1}{2}} v_{\frac{n+1}{2}} if n$  is odd  $u_{\frac{n+1}{2}} v_{\frac{n}{2}}$  if n is even

Then |V(G)| = 2n and |E(G)| = 2n-1Let  $f: V(G) \rightarrow \{ 1, 2, \dots, (2n-1)^3 + 1 \}$  be defined as follows:

$$\begin{array}{l} \underline{Case\ (i) \ \ when\ n\ is\ odd}}{f\ (u_{l}\ )\ \ =\ (2n-l)^{3}+l} \\ f\ (u_{i}\ )\ \ =\ (2n+1-i)^{3}+(2n-1)^{3}+1-f(u_{i-1}) \qquad ; \\ 2 \leq i \leq n \\ f\ (v_{\frac{n+1}{2}})\ \ =\ 9n^{3}-12n^{2}+6n-f\ \left(u_{\frac{n+1}{2}}\right) \\ f\ \left(v_{\frac{n+1}{2}-j}\right)\ \ =\ (\frac{n+1}{2}+j-1)^{3}+(2n-1)^{3}+1 \\ -f\ \left(v_{\frac{n+1}{2}-j+1}\right);\ 1 \leq j \leq \frac{n-1}{2} \\ f\ \left(v_{\frac{n+1}{2}+j}\right)\ \ =\ (\frac{n+1}{2}-j)^{3}+(2n-1)^{3}+1 \\ -f\ \left(v_{\frac{n+1}{2}+j-1}\right);\ 1 \leq j \leq \frac{n-1}{2} \end{array}$$

 $\begin{array}{ll} \underline{Case\ (ii) \ \ when\ n\ is\ even}}{f\ (u_{l}\ ) &= (2n - 1)^{3} + 1}\\ f\ (u_{i}) &= (2n + 1 - i)^{3} + 8n^{3} - 12n^{2} + 6n - f\ (u_{i-1}) &;\\ 2 \leq i \leq n \end{array}$ 

$$f(v_{\frac{n}{2}}) = 9n^{3} - 12n^{2} + 6n - f\left(u_{\frac{n+1}{2}}\right)$$
$$f\left(v_{\frac{n}{2}-i}\right) = \left(\frac{n}{2} + i\right)^{3} + 8n^{3} - 12n^{2} + 6n - f\left(v_{\frac{n}{2}-i+1}\right); 1$$
$$\leq i \leq \frac{n}{2} - 1$$

$$f\left(v_{\frac{n}{2}+i}\right) = \left(\frac{n}{2} + 1 - j\right)^3 + 8n^3 - 12n^2 + 6n$$
$$-f\left(v_{\frac{n}{2}+i-1}\right); 1 \le j \le \frac{n}{2}$$

Let  $f^*$  be the induced edge labeling of f.

Page | 286

Then

$$f^{*}(u_{i}u_{i+1}) = (2n-i)^{3} ; 1 \le i \le n-1$$
$$f^{*}\left(u_{\frac{n+1}{2}}v_{\frac{n+1}{2}}\right) = n^{3} ; if n \text{ is odd}$$
$$f^{*}\left(u_{\frac{n}{2}+1}v_{\frac{n}{2}}\right) = n^{3} ; if n \text{ is even.}$$

 $f^*(v_i v_{i+1}) = (n-i)^3 ; 1 \le i \le n-1$ 

The induced edge labels are distinct and they are  $\{1^3, 2^3, \dots, (2n-1)^3\}$ .

Hence the theorem.

# Theorem 2.2

The graph  $P_n @ P_m$  is cubic harmonious for all  $n, m \ge 2$ .

# **Proof:**

Let  $P_n$  be the path with *n* vertices and  $P_m$  be the path with *m* vertices. The graph  $P_n @ P_m$  is obtained by one pendant vertex of the *i*<sup>th</sup> copy of  $P_n$  with *i*<sup>th</sup> vertex of  $P_m$  we denote this graph by G.

Let 
$$V(G) = u_i$$
;  $1 \le i \le mn$   
And  
 $E(G) = \begin{pmatrix} u_i u_{i+1}; & 1 \le i \le n-1 \\ u_i u_j; & 1 \le j \le n, nj + 1 \le i \le m(n-1) + 2 \\ u_i u_j; & 1 \le k \le n, \\ & 1 \le j \le n-1, ((m-1)(k-1) + (m+1)) \\ + j \le i \le (k+1)n \quad |V(G)| = mn \quad \text{and} \\ |E(G)| = mn-1.$ 

Let 
$$f: V(G) \rightarrow \{ 1, 2, \dots, (mn-1)^{3}+1 \}$$
 be defined as follows:  
 $f(u_{11}) = (mn-1)^{3}+1$   
 $f(u_{i}) = (mn-i+1)^{3} + mn^{3} - 3(mn)^{2} + 3mn$   
 $-f(u_{i-1}); 2 \le i \le n$   
 $f(u_{i}) = (mn-i+1)^{3} + (mn)^{3} - 3(mn)^{2} + 3mn$   
 $-f(u_{j});$   
 $1 \le j \le n, (nj+1) + (j-1)(m-1) \le i$   
 $\le m(n-1) + 2$   
 $f(u_{i}) = (mn-i+1)^{3} + (mn)^{3} - 3(mn)^{2} + 3mn$   
 $-f(u_{i-1}); 1 \le k \le n,$   
 $1 \le j \le m - 2, (m-1)(k-1) + (n+1) + j$   
 $\le i \le (k+1)n$ 

Let f<sup>\*</sup> be the induced edge labeling of f.Then

$$f^{*}(u_{i} u_{i+1}) = (mn - i)^{3}; \qquad 1 \le i \le n - 1$$
  
$$f^{*}(u_{i} u_{j}) = (mn - i + 1);^{3} \qquad 1 \le r \le n, nj + 1 \le i$$
  
$$\le m(n - 1) + 2$$

$$f^*(u_i u_{i-1}) = (mn - i + 1);^3 \qquad 1 \le k \le n,$$
  

$$1 \le j \le m - 2, (m - 1)(k - 1) + (n + 1) + j \le i$$
  

$$\le (k + 1)n$$

The induced edge labels are distinct and cubic .They are  $\{1^3, 2^3, \dots, \dots, (mn-1)^3\}$ . Hence the theorem

Hence the theorem

## Theorem 2.3

Let G be the graph obtained from two copies of  $P_n$  with vertices  $u_1$ ,  $u_2$ ,.....  $u_n$  and  $v_1$ ,  $v_2$ ,  $v_3$ ,....,  $v_n$  by joining the fixed vertices  $u_r$  and  $v_r$  by means of an edge, for  $1 \le r \le n$ . Then the graph  $(P_n: G)$  is cubic harmonious.

**Proof**: Let *G* denote the graph  $(P_n: G)$ 

Let V(G)  

$$u_i$$
;  $i = 1,2,3...,n$   
and E(G)=  
 $v_i$ ;  $i = 1,2,3...,n$   
 $u_i u_{i+1}$ ;  $i = 1,2,3...,n$   
 $u_i v_{i+1}$ ;  $i = 1,2,3...,n$   
 $u_r v_r$ ;  
where  $r$  is a fixed vertex, for  $1 \le r \le n$ 

So, |V(G)| = 2n and |E(G)| = 2n-1.

Define  $f: V(G) \rightarrow \{1, 2, \dots, n, (2n+1)^3 + 1\}$  by

The induced edge mapping are

 $f(u_{i}) = (2n-1)^{3}+1$   $f(u_{i}) = (2n-i+1)^{3} + 8n^{3} - 12n^{2} + 6n - f(u_{i-1}) ;$   $2 \le i \le n$   $f(v_{\frac{n}{2}}) = 9n^{3} - 12n^{2} + 6n - f(u_{r}) \text{ where 'r' is the fixed}$ vertices for  $1 \le r \le n$ 

$$f(v_{r-j}) = (n-r+j)^3 + 8n^3 - 12n^2 + 6n -f(v_{r-j+1}); 1 \le j \le r-1 f(v_{r+j}) = (n-r-j+1)^3 + 8n^3 - 12n^2 + 6n -f(v_{r+j-1}); 1 \le j \le n-r$$

The induced edge mapping are

$$\begin{aligned} f^* & (u_i u_{i+1} + 1) = (2n - i)^3; & 1 \le i \le n \\ f^* & (u_r v_r) = n^3 \text{ where } 'r' \text{ is a fixed vertex for } 1 \le r \le n \\ & f^* & (v_i v_{i+1}) = (n - 1)^3; 1 \le r \le n \end{aligned}$$

The vertex labels are in the set  $\{1, 2, \dots, (2n-1)^3 + 1\}$ . Then the edge labels are arranged in the set  $\{1^3, 2^3, 3^3, \dots, (2n-1)^3\}$  So the vertex labels are distinct and the edge labels are also cubic and distinct . So the graph  $(P_n:G)$  is a cubic harmonious.

# Theorem 2.4

The graph  $pK_{1,q} \cup rK_{1,S}$  is cubic harmonious for  $p, q, r, s \ge 1$  **Proof.** Let G denote the graph  $pK_{1,q} \cup rK_{1,S}$ Let  $V(G) = \begin{pmatrix} u_m : 1 \le m \le p; \\ u_{mn}: 1 \le m \le p; 1 \le n \le q \\ v_t : 1 \le t \le r; \\ v_{tw}: 1 \le t \le r; 1 \le w \le s \end{cases}$ 

 $\begin{aligned} v_{tw} &: 1 \leq t \leq r; 1 \leq w \leq s \\ \text{and E(G)} &= \\ v_t v_{tm}: & 1 \leq t \leq r; 1 \leq w \leq s \\ \text{Then } |n(G)| &= p(1+q) + r(1+s) \text{ and} \\ |m(G)| &= pq + rs \end{aligned}$ 

Define 
$$f: V(G) \rightarrow \{1, 2, \dots, (pq + rs)^3 + 1\}$$
 by  
 $f(u_m) = (pq + rs - q(m - 1))^3 + 1;$  1  
 $\leq m \leq p$   
 $f(u_{mn}) = (pq + rs - (m - 1)q - (n - 1))^3;$  1  
 $\leq m \leq p, 1 \leq n \leq q$   
 $f(v_t) = [s(r - t + 1)]^3 + 1;$   $1 \leq t \leq r$   
 $f(v_{tw}) = [s(r - t + 1) - 1 - (w - 1)]^3 + v_t;$  1  
 $\leq t \leq r, 1 \leq w \leq s$ 

The induced edge mapping are

$$f^*(u_m u_{mn}) = [pq + rs - (m-1)q - (n-1)]^3; \quad 1 \le m$$
  
$$\le p \quad 1 \le n \le q;$$
  
$$f^*(v_t v_{tm}) = [s (r-t+1) - (w-1)]^3; \quad 1 \le t$$
  
$$\le r; \quad 1 \le w \le s;$$

The vertex labels are arranged in the set  $\{1, 2, \dots, (pq + rs)^3 + 1\}$ . Then the edge labels are arranged in the set  $\{1^3, 2^3, \dots, (pq + rs)^3\}$ . Therefore the edge label are distinct and vertex labels are also distinct. So G is harmonious.

# Theorem 2.5

Page | 288

The graph  $U_{r=1}^t K_{1,r}$  is a cubic harmonious for all  $t \ge 1$ 

**Proof :** Let *G* denote the graph  $U_{r=1}^{t} K_{l,r}$ Let  $V(G) = v_r$ ; for r = 1, 2, ..., t  $v_{rs}$  for r = 1, 2, ..., t; s = 1, 2, ..., rand E (G)  $= v_r v_{rs}$  for r = 1, 2, ..., rSo  $n(G) = \frac{t(t+3)}{2}$  and  $|m(G)| = \frac{t^2 + t}{2}$ Define f: V(G)  $\longrightarrow \{1, 2, ..., (\frac{t^2 + t}{2})^3 + 1\}$  by

$$\rangle^3$$

ISSN [ONLINE]: 2395-1052

$$f(v_r) = \left( \left(\frac{t^2 + t}{2}\right) - [(r - 1) + (r - 2) + \dots + 1] \right) + 1$$
  
;  $1 \le r \le t$   
 $f(v_{rs}) = \left[ \left(\frac{t^2 + t}{2}\right) - [(r - 1) + (r - 2) + \dots + 1] - (s - 1) \right]^3$ ;  $1 \le r \le t$ ,  $1 \le s \le r$  The induced edge mapping are  
 $f^*(v_r v_{rs}) = \left[ \left(\frac{t^2 + t}{2}\right) - [(r - 1) + (r - 2) + \dots + 1] - (s - 1) \right]^3$ ;  $1 \le r \le t$ ,  $1 \le s \le r$   
The vertex labels are in the set  $\left\{ 1, 2 \dots , \left(\frac{t^2 + t}{2}\right) + 1^3 \right\}$ . Then  
the edge label arranged in the set  $\left\{ 1^3, 2^3, 3^3 \dots , \left(\frac{t^2 + t}{2}\right)^3 \right\}$ . So

the vertex labels are distinct and the edge labels are also distinct and cubic. So the graph  $U_{r=1}^{t}K_{1,r}$  is a cubic harmonious for all  $t \ge 1$ .

# Theorem 2.6

1 -

Let G be the graph  $\langle K_{1,a}, K_{1,b}, K_{1,c}, K_{1,d} \rangle$  obtained by joining the middle vertices of  $K_{1,a}, K_{1,b}, K_{1,c}, K_{1,d}$  to another vertex 'u' is cubic harmonious for all a ,b ,c,  $d \ge 1$ 

## **Proof:**

Let G be a combination of the star graph  $< K_{1,a}, \; K_{1,b}, \; K_{1,c}, \; K_{1,d}\!\!>$ 

Let V (G) = {  $u_{,u_{n},u_{1p},u_{2q},u_{3r}u_{4s}$ ;  $l \le n \le 4$ ,  $l \le p \le a$ ,  $l \le q \le b$  $l \le r \le c$ ,

$$1 \leq s \leq d$$

and E (G) = 
$$\begin{cases} uu_n \ ; \ l \le n \le 4 \\ u_l u_{lp}; \ l \le p \le a \\ u_2 u_{2q}; \ l \le q \le b \\ u_3 u_{3r}; \ l \le r \le c \\ u_4 u_{4s}; \ l \le s \le d \\ = a+b+c+d+5 \\ |\ m\ (G)| = a+b+c+d+4 \\ \begin{cases} 1,2,\dots,(a+b+c+d+4)^2 \} \text{ by } \\ f(u) = (m(G))^3 \\ + 1; \\ f(u_n) = (n(G) - n)^3; \quad l \le n \le 4 \\ f\ (u_{1p}) = (a+b+c+d-(p-1))^3 + (m(G))^3 + 1 - f(u_1); \\ l \le p \le a \\ f\ (u_{2q}) = (b+c+d-(q-1))^3 + (m(G))^3 + 1 - f(u_2); \\ l \le q \le b \\ \end{cases}$$

www.ijsart.com

$$f(u_{3r}) = (c + d - (r - 1))^{3} + (m(G))^{3} + 1 - f(u_{3}); \qquad 1$$
  

$$\leq r \leq c$$
  

$$f(u_{4s}) = (d - (s - 1))^{3} + (m(G))^{3} + 1 - f(u_{4}); \qquad 1$$
  

$$\leq s \leq d$$
  
The induced edge mapping are

 $f^{*}(uu_{n}) = (n (G) - n)^{3}; \qquad l \le n \le 4$   $f^{*}(u_{1}u_{1p}) = (a + b + c + d + 1 - p)^{3}; \qquad l \le p \le a$   $f^{*}(u_{2}u_{2q}) = (b + c + d + 1 - q)^{3}; \qquad l \le q \le b$   $f^{*}(u_{3}u_{3r}) = (c + d + 1 - r)^{3}; \qquad l \le r \le c$   $f^{*}(u_{4}u_{4s}) = (d + 1 - s)^{3}; \qquad l \le s \le d$ The vertex labels are in the set  $\{1, 2, \dots, (a + b + c + d + 4)^{3} + 1\}$  Then the edge label arranged in the set  $\{1^{3}, 2^{3}, 3^{3}, \dots, (a + b + c + d + 4)^{3}\}$ . So the vertex labels are distinct and edge labels are also distinct and cubic. So the graph G is cubic harmonious for all *a*, *b*, *c*, *d ≥ 1*.

#### REFERENCES

- [1] Frank Harary, Graph Theory, Narosa Publishing House, New Delhi, 2001
- [2] J.A. Gallian, A dynamic survey of graph labeling, The Electronic journal of Combinatrorics, 16(2013)
- [3] D Jonathan L Gross, Jay Yellen, Hand book of Graph Theory CRC Press, Washington (2003).
- [4] Mini.S.Thomas and Mathew Varkey T.K, Cubic Graceful Labeling , Global Journal of Pure And Applied Mathematics, Volume 13,Number 9, pp 5225-5234, Research India Publications June (2017)
- [5] Mini.S.Thomas and Mathew Varkey T.K, Cubic Harmonious Labeling . International Journal of Engineering Development of Research (Accepted) (2017)
- [6] P.B.Sarasija and N.Adalin Beatress, Even Odd harmonious graphs, international journal of Mathematics and Soft Computing Vol.5, No1,23-29, (2015).
- [7] S.C.Shee, "On harmonious and related graphs" Ars Combinatoria, vol 23, pp 237-247,(1987).
- [8] T.Tharmaraj and P.B.Sarasija, Square graceful graphs, international journal of Mathematics and Soft Computing Vol.4, No 1,129-137, (2014),
- [9] T.Tharmaraj and P.B.Sarasija, Some Square graceful graphs, international journal of Mathematics and Soft Computing Vol.5 No.1,119-127 . (2014).